[image: image1.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


KTM3PV2
KTM125/200 Duke
Mounting instruction:
Warning- during the installation is need to do thread M6 in to the axis on the right side.
Kit for left side:




Kit for right side:
	Note
	Description
	Cat. No
	Quant.

	1
	Protector
	PVPK2-417
	1

	2
	Bolt M8x40
	828
	1

	3
	Washer M8
	802
	1


	Note
	Description
	Cat. No
	Quant.

	1
	Protector
	PVPK2-274
	1

	2
	Bolt M6x40
	866
	1

	3
	Washer M6
	947
	1


Instruction for right side:
• The center axis make a M6 thread. 

• Use the the crash protector. 

• Mount using M6x 40 mm screw and washer M6.
Instruction for left side:
· Use the crash protector.
· Mounting by bolt M8x40mm and washer M8.

· Change original bolt fot the crash protector.

[image: image2.jpg]


The threaded bolts, use glue on the threads (medium- blue colour).[image: image3.png]



1

